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The following 7 (Seven) items consist of two

gtatements,

Statement I and Statement 11

Examine these two statements carefully and

select the correct
given below :

Code :

answer using the code

(a) DBoth the statements arc individually
true and Statement II is the correct
explanation of Statement I

(b) Both the statements are individually
true but Statement II is NOT the
correct explanation of Statement I

(c) Statement I is true but Statement II

is false

(d) Statement I is false but Statement II

is true

1. Statement I :

Statement II :

2. Statement I :

Statement II :

3. Statement I :

Plantation farming has
mostly been practiced in
humid tropics

The soil of humid tropics
is highly fertile

Chameleon changes its
skin colour to match with
the colour of the
surroundings

The skin of chameleon
emits light of the colour
of the surrounding through
fluorescence

Occasionally we see two

rainbows together, the
primary rainbow with
another less intense

secondary rainbow about
10 degrees away

Statement 1I :

4. Statement I :

Statement 1T :

5. . Statement [ :

Statement II :

6. Statement I :

Statement 11 :

The secondary rainbow
appears due to refraction
after a reflection of
sunlight from the water
droplets

Nationalism in India, which
was assigned a privileged
position by its western
cducated political leader-
ship, was a ‘different’, but
a ‘derivative discourse’
from the west

Indian nationalism as a
response  to  western
imperialism was ‘like all
such responses, shaped by
what it was responding
to’

The British legal scholars
relied on Indian Pandits and
Maulavis for understanding
of canons of authoritative
texts

British codified the Hindu
Laws in 1783 and the
Muslim Laws in 1785

Dadabhai Naoroji argued
that what was being
drained out was ‘“potential
surplus’ that could generate
more cconomic develop-
ment in India if invested
in India

Imperialists believed that
India was brought into the
large capitalist world
market and that was in
itself a progress towards
modernization
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: A G AR TREFR 6
1@ foreft oISt oaeh gRT Sfid
ST T AT 7 € |

: G WTZS ThISTead o HISo
# o # TR SR E

TRERR 1 2016 F FI= &

sfed waT-wifea & fom
T RERR o &9 H foafia
fera ST A |

FUA 11

. WA ISoaal AT o &R | feeferiaa
A FIF AT FIT T8 qE8r e 2

(a) F€ UH THMS-FIW ST € S
BPL @Rl &l LPG Hea3H Seled
A & fqu 2

(b) =W AT S A 2015 F AW fFr

AT Aan

(c) T AT & T TWHR 7 5 HS
LPG Fasm a1 @ T fommm @

(d) =T TS T e TS H == 261
SUCTeY hATHY HigeATsll Ud s=dl
ey T YA AT ©

. AR T2 9w & 250 3 Arftienicds
frafafaa # & e Ode it yeoma &
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- (a) wfeg @
(b) fesim
(c) Ss™

(d) Tasr
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13.

PR £ ot 1 4 CO MR U M e O
R Y& gadhish 2016 ¥, frafafad
H ¥ {8 Q1 1 RIFGH WS Q8T T GT 6T

TR ?

e d Haiehar s, feReht Tegfe ax fd
fepar @ a7 7 1T

(a) uaﬁmwﬁiﬁgarr{anﬁﬂ

(b) TRATAT AR

(c) prrerrHr wfife

(d) "o affa

IR o GIGEH # Al seg=1 fha ganem
SR STE T oY ?

(a) GEal Gened

(b) TET "M

(c) Tormaar qenee
(CVIRERIGEEIE:FIE !

AR & S=aq9 FEred |, e § @

ferer wer a1e # fUse 7wt & siw ‘e o’

& He TR AT HI WL

(a) <. TH. AHETE SHAH T2 IA(F S

(b) 351 TEAl =AW e ew Efear
(WR< |4)

(c) #y fermat swm g Afd

(d) Teo fire 59 w©e ATE 9o




7. Statement I : The Man Booker Inter-

national Prize 18 how
unlikely to be won by an
English author

Statement II : The Booker Prize Founda-
tion announced that the
Man Ranker Infernational
Prize was to evolve from
2016 onwards into a prize
for fiction in translation

. Which one of the following statements
about Pradhan Mantri Ujjwala Yojana is
NOT correct ?

(a) It is a social welfare scheme to
provide LPG connections in BPL
households

(b) The scheme was launched in the
year 2015

(c) The Government has set a target of
5 crores LPG connections under the
Yojana

(d) The objective of the scheme is to
safeguard the health of women

and children by providing them
with clean cooking fuel

. Which one of the following portals was
launched on the 250th anniversary of
Survey of India ?

(a) ServicePlus
(b) DigiMap
(c) Udaan

(d) Nakshe

10. Which one of the following countries has

135

12.

135

been tauked as the least corrupt country
in the Corruption Perception Index 2016
released by Transparency International ?

(a) Denmark
(b) Sweden
(c¢) Switzerland

(d) Norway

The Central Vigilance Commission was
set up on the recommendation of

(a) First Administrative Reforms Com-
mission

(b) Gorwala Committee
(¢) Kripalani Committee

(d) Santhanam Committee

The Ninth Schedule was added to the
Constitution of India by the

(a) Fourteenth Amendment
(b) First Amendment
(¢) Ninety-Third Amendment

(d) Ninety-Ninth Amendment

Which one of the following cases in the
Supreme Court of India dealt with the
issue of ‘creamy layer’ among the
backward classes ? ;

(a) K M Nanavati vs. State of Bombay
(b) Indra Sawhney vs. Union of India
(¢) Madhu Limaye vs. Ved Murti

(d) Sajjan Singh vs. State of Punjab
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16.

fopear T & aR # fefafaa & @ s o
FIT HEN e ¢ ?

(a) #1942 #, fopmy o AR Sz
T HEIGT G0N (ST SFRYA) TR
AT B o foru it foram

(b) SETERATE TBE 97 HER Ued o
Ty o Ty STt & forg, R
uferfafies faan

(¢) g & uxarq Wew A eifirfeae gt

T TR
(d) Fg & 9vEq faem A wfaam Fefo-
Frerma &1 o wrEaTt R
TATRETE hi |@fer & o A Feafafag o &
FIF AT HAT TEl TEL B ?
(@) MR AN 1765 H, TeeR fwd ™ 3

(b) HIE HHE 7 TS FAN & GRI 3€¢
gfear sl i e, foer otk Sem
1 QAT ta=TRe & # e

(c) SOW@%WWMHW
TaTs 1 wter feam

(d) SFRE AAT I T Teheh] Gy &
3T ST STTE STer 11 <1 |9 feam T

frrforfaa & & =iw &, wit-zffa awettar

T IS TE 9T ?

(a) W|IF ST STGIE o THT oI Tereh
HfEAT Y TehTeT Uxh SRl

(b) SR o Teeiiar =697 T 9T el o forg
HE 1931 & wHeAar & @S 2 H
'HREVT FAT EOAET S g
ferar mman
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17.

18.

19.

(c) T Well =i Jeet § €I Sl T e
ST T AT

(d) it =t =6 foro 18 widerg w6t =t
3TTRETOT

FAT-Aiea 0 # 9% 2017 % fro
ﬁmﬁf@am‘&ﬁﬁﬁfﬂw%qﬁm
YRERR STIar ?

(a) T icelth

(b) 3N § @r=e &t deAie &t

(c) 7 feroumesr
(d) T ASTEE ERiE

ol 3 & T, P <A g R
BT FET IORAT /ol @ 7

(a) EIGA ol

(b) e Aat

(c) L TRl HE&AT 37

(d) YRG A9 T I 99

US Tsgafd & 2017 & weria 849 & &
YR T § US & FmEt & fau we
Aty smey W wEeR fear R
frefofea & & 98 wwed @ ffRa
HIfoT

(a) URm-tfifthe oA FismaRaE

(APEC)
(b) i Hfafhs qréafim (TPP)

(c) W e Wi siw i ufsmn dfifes
(ETAAP)

(d) T e i e
(RCEP)



14.

15.

16.

Which one of the following statements
aboul Cripps Mission is NOT correct ?

(a) In March 1942, Cripps persuaded
War Cabinet to agree to a draft
declaration

(b) Jawaharlal Nehru and Sardar Patel
- represented Congress to negotiate
with the mission

(¢) The mission offered Dominion
status after the war

(d) The mission offered formation of
constitution making body after the
war

Which one of the following statements
about the Treaty of Allahabad is NOT
correct ?

(a) It was signed in the year 1765

(b) The Mughal Emperor by a farman
formally granted the Diwani of
Bengal, Bihar and Orissa to the
East India Company

(c) Awadh was restored to its Nawab
on payment of Rs. 50 Lakhs

(d) Banaras and the Surrounding tracts
were detached from Awadh and
handed over to Shah Alam II

Which among the following was NOT
the provision of the Gandhi-Irwin pact ?

(a) Immediate release of all political
prisoners of the Civil Disobedience
Movement

(b) Clause 2 of the March 1931 pact
defined ‘reservations and safe-
guards’ to cover financial credit of
India

17.

18.

19.

(c) The return of confiscated land

alrcady sold to third parties
(d) Reservation of 18 per cent seats

for Depressed classes

Which one of the following novels won
the Pulitzer Prize for the year 2017 in
the Fiction category ?

(a) The Goldfinch
(b) All the Light We Cannot See
(¢) The Sympathizer

(d) The Underground Railroad

Which one of the following does NOT
pass through the Kaziranga National
Park ?

(a) The Brahmaputra river
(b) The Diphlu river
(¢) National Highway No. 37

(d) Railway track of Indian Railway

The US President in 2017 has sighed an
executive order for US withdrawal from
a trade organization of the Pacific
region. Identify the organization from
among the following :

(a) Asia-Pacific Economic Cooperation
(APEC)

(b) Trans-Pacific Partnership (TPP)

(c) Free-Trade Agreement of the Asia-
Pacific (FTAAP)

(d) Regional Comprehensive Economic
Partnership (RCEP)
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22,

23.

frmfefaq afirfofaf 4 & g o= & 32
R e O A = =1 e
STAT 111 & feRet ST Suaiees § HMe & &
FIE ek TEe T a2

(a) HAEATTE ARG FATH €2 ATE A

(b) e 1Y FAW T2 3F ISE

(c) =UHH RIS <A €E IA1F TS
(d) Fraf fiea fafiee 59w wrRe @R
fraferfaa Famett # & wiF, go fed dieaa
6T AR H TG ® ?

(a) . sit. I

(b) STAWRIA TR

(c) =T g e

(d) formem s

frfafea & @ &9, TRa & afam &
HT=G 263 & TN SiaR-To qRkwg
TIYAT A & forw gareh @ 2

(a) WG

(b) wfeg

() SRt = Arsgfer

(d) R T q&T AEHRS

freafafaa & & == €@, Jge fde &
AT FET Al ?

(a) erfifae g=if

(b) I Tars Hea

(c) USHTHS TAT ATHAATT Sheg

(d) FI&h AATEUSRR
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24,

25,

26.

1859 o et forsis & R ¥ freferfaa o &

<hiv AT HYT el § ?
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(b) FE WEHRT Al & foeg waerd
o1 s

(c) TSl o Sfgstifeat = 57 =eman fear a1
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TRA ¥ SEIIAT F SHAT F F oy
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(a) hael
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(d) e 4

Treferfaa # & i €t s et 1960t Ry
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(a)

(b) =TS
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21.

22.

23.

Which one of the following judgments
declared that the Parliament has NO
power to amend any of the provisions of
Part III of the Constitution of India ?

(a) Kesavananda Bharati vs. State of
Kerala

(b) Golak Nath vs. State of Punjab

(¢) Champakam Dorairajan vs. State of
Madras

(d) Minerva Mills Ltd. vs. Government
of India

Who among the following leaders is
associated with the concept of party less
democracy ?

(a) J B Kripalani

(b) Jayprakash Narayan

(¢) Acharya Narendra Dev

(d) Vinoba Bhave

Who among the following is empowered

to establish Inter State Council under
Article 263 of the Constitution of India ?

(a) Parliament

(b) Council of Ministers

(c) President of India

(d) Chief Justice of India

Which among the following was NOT

the recommendation of the Nehru
Report ?

(a) Dominion Status
(b) Separate Electorate
(¢) Unitary and Democratic Centre

(d) Adult Suffrage

24.

25,

26.

Which one of the following statements
about the Indigo Revolt of 1859 is
correct ?

(a) It broke out at
Ahmadnagar

Poona and

(b) It was directed against moneylenders

(c) It was supported by the intelligentsia
of Bengal

(d) It was directed against the petty
Zamindars and ex-employees of the
planters

Which of the following active step(s)
was/were taken by the Congress in 1823
to eradicate untouchability from India ?

1. Effort to educate and mobilize
opinion among caste Hindus

2. Efforts to educate the ‘avarnas’
about the evils of untouchability

3. Forcibly open the doors of temples
for ‘avarnas’

4. Petition the Government to pass
laws that would declare untouch-
ability unlawful

Select the correct answer using the code
given below :

(a) 1 only

(b) 1 and 2
(c) 2,3 and 4
(d) 4 only

Which one of the following is NOT a

river covered under the Indus Water
Treaty 1960 ?

(a) Ravi
(b) Chenab
(c) Teesta
(d) Beas
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29,

30.

7 2017 & forw He wifceht # A FHY
Tz feafafaa # 8 e wem forar
B0

(a) TEET S5eg BT 3R IR RIS
(b) RUree $AT, fohT TH. A 37K TR A=

(c) A% Ui, Trgh WIRR 3K
HUEA G

(d) . AT FIE A, SHA BlesT AR

e 3. geow

Ty 2017 & fou f=fafas vt & &
Usel YTEel e fohan T g 7

(a) S TE A0

(b) TET HAX

(c) TH. IR, HtfTam Fe=

(d) Trgq ar=ed

frrafefag fagm & @ fFaq, a=a &

Hfaam & ‘HigwRea S % ®9 H

gaumia ferar g ?

(a) TH. AT, I

(b) Et. . §g

(c) Il srifees

(d) FHTS HgAT

ffafag & & @9 @/8 FUH T@l

2/% 7

1. ARG & HEEW F1 Ag=es 15 IR
& Anriet qun fefimt, e &
IUA B |
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2. MRA & G &1 =05 16 Had
R o ANTEhT el TTHT & |

3. W < HEETT T o= 21 IR o5
AL H, WA & ARG adT
frefidt, 2t &t v &9 @ 9uaw
2 |

1 0 1 2 8 1) B gl o B £
3 - :
(a) e I

(b) a2 IR 3

(c) FA@3

(@ 1,233

ARA @ WEUE & AI0E 14 & ST
goqr-ufassrioa f&fr & wwer awar @

ferferat & v dxequr & v, fefofaa @
4 forer /fovee we <1 e € 7

1. 9RA ¥ & AT Gl HRA T AT
Call

2. Tocant ¥ Te ATl gel IR AN
Eai

3. YR & TS & ISR @ A
ferefarmt =t

4. RS H S GHT AATRT Bl

I @ @ ge @1 W R "El ST
e

(a) a1 R 2

®) 1,2 3R 3

(c) a1 3R 3

(d 4
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30.

Who among the following are awarded
witlt (lie Special Bieaktliough Prize in
Fundamental Physics for the year 2017 ?

(a) Stephen W Hawking and Roger
Penrose

(b) Ronald Drever, Kip S Thorne and
Rainer Weiss

(¢) Joseph Polchinski,  Andrew
Strominger and Cumrun Vafa

(d) J Michael Kosterlitz, Duncan
Haldane and David J Thouless

Who among the following Mathematician
is the recipient of the Abel Prize for the
year 2017 ?

(a) John F Nash

(b) Yves Meyer

(¢) SR Srinivasa Varadhan

(d) Andrew Wiles

Who among the following scholars has

conceptualized the Constitution of India
as a ‘seamless web’ ?

(a) MV Pylee
(b) ‘DD Basu
(c) Granville Austin

(d) Subhash Kashyap
Which of the following statements is/are
correct ?

1. Article 15 of the Constitution of
India is available to both citizens of
India and the foreigners '

11

31

2. Article 16 of the Constitution of
India i3 available to tho citizens of
India only

3. Article 21 of the Constitution of
India is available to both citizens of
India and the foreigners alike within
the territory of India

Select the correct answer using the code
given below :

(a) 1 only
(b) 2 and 3 only
(c) 3 only

(d 1,2 and 3

Who among the following are entitled to
get the benefits of equality before the
law and the equal protection of the laws
as enshrined under Article 14 of the
Constitution of India ?

1. All Indian citizens living in India

2. All Indian citizens living abroad

‘3. Foreigners living within the territory
of India

4. All citizens born in India

Select the correct answer using the code
given below :

(@) 1 and 2 only
(b) 1, 2 and 3
(c) 1 and 3 only

(d) 4
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1835 & siusit e afafaw & I #

| fr=fofea @ @ = o1 59w "8 =78 8 ?

a3,

34.

-(a) ™ AT S TR W TR SR

faferay Sifée ero weanfaa forar
o7

ZHA RIS w1 AR e wore §
fRreqor <t syToT =T

foreror Y W & ®W # SN %
Afv=Tier  FRATIEROT & WY 'l
TR {318 ¥ Ues 7% feurm =t amEeen
JIR 2t w4 |

o v gt & fou, frnffat
T 72 FIeRTT AT T W= 5= Ul
T TR, STRI T@T ST AT

frferfag & & fom ToEa 3 fosmar

T & ATERSTeT & AL e foram 2

(a) H, T, T AT ARG

(b) T, T, SRT(G T4 I

(c) THEad, Uqd, IR TaT TWH

@) 2afiR % @, Smew, aga
STty

tafafier arefemmen & ar # Fefalaa

A S A1 FIT aEl TE 2 ?

() fafeyr it Aot & qef Goiame &
3TERNE 3ATAT

(b) FEETT | G8ft YsiiaTs i Gishy &9 A
e foer

(c) UAT WRA # “raq GTfesh THIEHR
(eeTEe HetFea HiAer)” ge ged
AT T GATTHF ggg &A1 T8

(d) W= & fmi & gea s & A
e | WA FAT FHiSA o1

(b)

(c)

@
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T R & s # ﬁmﬂ%—rﬁaﬁ # 9
I |1 /¥ 599 98l 8 /% ?

|. 98 AMTde # Sl TH wafEl,
SITHHRR AT Sl1el & oG © |

2. 3% AR I ‘%?rl‘q' Rz
i & fau 9 7 2015 @ feg.
e AT B |

3. ‘R T Rex &’ R UdTeHT s
T Tk AT AT |

A o ™ FE w1 W R A I
i

(a) &9 1

(b) e 2 3K 3

(c) Fa= 1 3R 3

@d 1,2 3R 3

ety gitada v U wweEitar &

TR 7 fr=fafa ot d @ a9 a1 w8t

E T ?

(a) 3@ HHHAIA T 190 & 3iftrs et A
geaer fohd € (w2017 61 f&afd)

(b) TT THEAIAT 4 AR 2016 =h! WHE |
AT

(c) syt T faafia sisem (3enes
dymet feefife wedi=1em, INDC),
518 2015 & Sreramy TitEd awer &
ufasa foear o an, ot afe wEiar
¥ yeateia e @

(d) USA a1 =i g1, UR& gaetar |
G E Y
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33.

34.

Which one of the following statements
about the English Education Act of 1835
is NOT correct 7

(a) It was proposed by Governor
General William Bentinck on the
advice of Macaulay

(b) - It made English the language of

instruction in Indian cducation

system

With the formal institutionalization of
English as the language of instruc-
tion, the stage was set for a new
direction to Indian education

(©)

(d) To the existing Oriental Institutions
fresh awards of stipends to students
and the publication of classical texts

were to continue

Which one of the following dynasties
ruled under the suzerainty of Kingdom of
Vijayanagar ?
(a) Sangamas, Saluvas, Tuluvas and
Aravidus

Sangamas, Hoysalas, Aravidus and
Tuluvas

(®)
(c¢) Hoysalas, Saluvas, Poligars and
Sangamas

(d Yadavas of Devagiri,
Saluvas and Aravidus

Hoysalas,

Which one of the following statements

about the Colonial economy is NOT

correct ?

(a) The British presence inhibited
indigenous capitalism

(b) Laissez-faire actively promoted
indigenous capitalism

(¢) The ‘white collective monopoly’
came earliest and remained most
pronounced in Eastern India

(d) The Bombay hinterland was difficult

to penetrate before the construction

of railways

13

35. Which of the following statement(s)

36.

about Lasterine Kire is/are correct ?

1. Born in Nagaland, she is a poet,
novelist and children’s book writer

2. She is the recipient of the Hindu
Prize for the year 2015 for her
poetic novel ‘When the River
Sleeps’

3. “When the River Sleeps’ was an
exploration of the Naga spirit
universe

Select the correct answer using the code
given below :

(a) 1 only

(b) 2 and 3 only
(c)
(d)

1 and 3 only

1, 2 and 3

Which of the following statements about
the Paris Agreement on Climate Change
is NOT correct ?

(a) The agreement has been signed by
more. than 190 countries (as of
March 2017)

(b)

The agreement went into effect on
4 November 2016

The Intended Nationally Determined
Contribution (INDC) pledged during
the 2015 Climate Change Confer-
ence has been withdrawn in the
Paris Agreement

(c)

(d) Both USA and China joined the

Paris Agreement

A — U-GIA-JBOS
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39.
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(b)

(c)
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40.

41.

2. & AR :

A1 hl IZT e h
& Tofg ST SreT
3. TEREE ;A A % gRm

= fed T Fe I UANT I OGEN IR
I :

(a) &3 1
(b) 1 3 2
(c) 2 3R 3
(d) S & & T

ay 2016 & TEMGSE W TEER
e e T e : oo
e feriact # | [hel WTH g3 © 7

(a) <. fagawm
(b) o &g

(c) TR

(d) IS FHR

frafafea & @ frmsh g/, wRa & o
Hshel! AT €e 1 9g ghord foar T ?

() Tt =efien e 1861

(b) ¥Rd TR Afefw (g @He 3w
Zfean vae) 1858

(c) Wil fiet gaw
(d) wIFe 2FIFS IR



37.

38.

39.

Akshay Kumar was chosen for the best
actor award for the 64th National Film
Awards (2017) for his role in the Hindi
film

(a) Mukti Bhawan

(b) MNaam Shabana

Rustom

(c)

(d) Airlift

Which one of the following statements
about the provisions of the Constitution
of India is correct ?

(a) Minorities can establish and
administer educational institutions of
their choice

(b) Only linguistic, ethnic and religious
minorities find mention under
Article 30

(¢c) Every religious denomination has
unfettered right to establish and
maintain institutions for religious and
charitable purposes

An educational institution established
by a religious minority loses its
minority status on receiving financial
aid from the Government

@

Which of the following pair(s) is/are
correctly matched ?

Part of grant that
can be carried over
t0 next year

1. Rule of lapse :

15

40.

41.

2. Supplementary : Anadvance grant to

grant meet expenditures
3. Vote on . Additional funds
account granted in the

course of financial
year

Select the correct answer using the code
given below :

(a) 1 only
(b) 1 and 2
(c) 2 and 3

(d) None of the above

Who among the following has won the
Dadasaheb Phalke award for the year
2016 ?

(a) K Viswanath

(b) Shashi Kapoor

Gulzar

(c)

(d) . Manoj Kumar

Which one of the following had created
the office of the Secretary of State for
India ?

(a) The Councils Act 1861
(b) The Government of India Act 1858
(c) The Morley Minto Reforms

(d) Montague Chelmsford reforms

A — U-GIA-JBOS
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A. GHTEAT 1. & o T&Teht

&1
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T
A B C D
(a) 2 4 3 1
(h) &0 3 - 1
(c)= =] 3 - 2
@i 1 4 3 2

i T e

45.

vy § frefafaa § @ et safifza 2 2
1. g fasg & < a7 &ty Tsai & =
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Gl M e e A Tl 2 1 ) B 7 o M 4
ﬂﬁ%{:

(a) FaT 134

(b) A 2 3R 3

(c) e 2, 3 A 4

d 1,2,33R4
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(e Tam@ded uTest) o ©: fasrarsi §
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(a) SilGd T

(b) 3ATCIYT 9T

(¢) FEee |THTAT
(d) FraXellel ST



42.

43.

B. Brajadulal

Match List I with List I and select the
correct answer using the code given
below the Lists :

List I List II
(Author) - (Book)
A. Herman Kulke 1. The Delhi

Sulwnate :
A Political and

Chattopadhyaya  Military History

2. The Emergence of
Delhi Sultanate :
AD 1192-1296

C. Peter Jackson

D. Sunil Kumar
3. The State in India :

1000-1700

4. The Making of

Early Medieval -
India

Code :

A F LB AL D
(@) 2 1 3
by 3 4 1 2
() -2 - 1 3
d 3 \ 4 2

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Official) (Office held)
A. Samahartri 1. Chief of the

_ : Palace Guards
B. Samnidhatri

2. Chief collector

C. Sansthadhyaksha of revenue

=2

D. Antaravamshika Treasurer

4. Superintendent
of markels

17

44,

45.

Code :
A B G D
(a) 2 1
)2 3 -+ 1
(@)l 3 4 2
(d) & 4 3 2

Which of the following most suitably
captures the meaning and essence of
‘globalization” ?

1. It is about conducting external
relations. between two or more
States of the world

2. It is a process of coming together
of world-wide social relations
bypassing territories

3. It refers to thinking transterritorially
about global risks affecting people

4. It has a wishful vision of suprastate
governance

Select the correct answer using the code
given below :

(a)
(b) 2 and 3 only

1 and 4 only

(¢) 2,3 and 4 only

@d 1,2, 3 and 4

Who among the following is one of the
six winners of the Goldman Environ-
mental Prize, for the year 2017 ?

(a) Jadav Payeng
(b)
(c)
(d)

Anadish Pal
Prafulla Samantra

Sunderlal Bahuguna

A - U-GIA-JBOS
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47.

48.

49.

9 %t gasha veae foafa faema 8 2
(a) SUAEHK

(b) e feaet

(c) ST cieh
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1. ST <l wegfe

2. Tawmta wiafadt grr s

3, ot fadues o1 aifq 2T

4. fafenr fordaes w1 i g
= 3 T Fe w1 OWEN AW HE I
=+

@l 2 ai g
(e Ao e
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(b) FHACH TWHFR

(c) HERTE §LhR

(d) THFATS THR

Freafafaa # & 919 =, &) e (1948)
&1 siftreyr ar 2

(a) TSTT & ATTRLOT o1 SAEATT AT

(b) =& wEqfa o o 7 Trsal @1 gt
TS TR W) f3HaT 517 6 2
Frg-TT Gl h HEFTH FAT

g LI LAl foh @1 HoT™ W9R <kl
Iy § raia fear s wehar @

(c)
(d)
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50.

i

52.
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Teh ¥Rl Al e  ?

(a) @ : A E, el Bl qE Gy
T4 N H STl 4t
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e

Frtafaa sawat & & fofw w & v
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46.

47.

48.

49.

(@)

Padma Shri Sudarsan Pattnaik is well
known as a

(a)
(b)

novelist
golfer
classical dancer

sand artist

(d)

Which one of the following 1is the comrect
sequence of different stages a budget
has to go through in the Parliament ?

1. Presentation of the Budget

2. Scrutiny by Departmental Commit-
tees

3. Passing of Finance Bill
4. Passing of Appropriation Bill

Select the correct answer using the code
given below :

(@ 1 -2-4-3
b) 1 -3-2-4
c) 2-1-3-4
@ 4-3-2-1

Government of which one of the
following States has appointed the
Rajamannar Committee to study the
Centre-State relations ?

(a)
(b)
(c)
(d)

Government of Andhra Pradesh
Government of Karnataka
Government of Maharashtra
Government of Tamil Nadu

Which one of the following was the
mandate of the Dhar Commission (1948) ?

(a) To study the classification of States

(b)

To recommend whether the States
can be re-organized on linguistic
basis

(c)
(d)

To study the Centre-State relations

To examine whether Madras city
con be transferred to Andhra

19

50.

51.

52.

Which one of the following pairs of term
and meaning is NOT correctly matched ?

(a) Khalisa : Villages whose income

went directly to the State

Treasury

(b) Mauza : Rebellious territory

(c) Inam  : Land allotted to learned
and religious man

(d) Jagir : Territorial assignment given

to Mansabdars in lieu of
salary

In which one of the following buildings
the first extant true arch is found ?

@
(h)
©
@

Arhai din ka Jhonpra
Quwwat ul Islam Mosque
Tomb of Sultan Balban

Alai Darwaza

Which one of the following statements is
NOT correct ?
(a)

Sharaf Qai was a minister of

Allauddin Khalji

(b) Under Giyasuddin Tughlug Mugtis

were warned not to ill-treat any of
their officials for small amounts
taken over and above their salaries

The Arabic work masalik-1-Absar
gives description of the functioning

of Igta system under Muhammad
bin Tughlug

(©)

Marco Polo has not mentioned
about Pearl Fishery of Tuticorin in
South India

A — U-GIA-JBOS
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56.

57:
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54.

952

- (d)

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Book) (Author)
A. The World 1. APJ Abdul Kalam
As I See It
B. How to Live 2. Stephen Hawking
Longer and
Feel Better 3 Albert Einstein
C. The Theory
of Everything 4. Linus Pauling
D. Indomitable
Spirit
Code :
A B € D
@: 3 4 2 1
(D)l 2 4 3
c) 3 2 4 1
d 1 4 2 3

Which one of the following countries has
officially recognized Bitcoin as a legal
payment method since 1st April 2017 ?

(a)
(b)
(©)

Japan
China
USA

India

Consider the following passage and
identify the person :

Born in April 1932, she was a renowned
Hindustani classical vocalist. She was
recognized as an innovative exponent of
the Jaipur Gharana. She was awarded
Padma Bhushan and Padma Vibhushan.
She was also a Fellow of Sangeet Natak
Akademy. She died in April 2017

21

56.

5.

(a)
(b)
(c)
(d)

Mrinalini Sarabhai

Mogubai Kurdikar

Kishori Amonkar

MS Subbulakshmi

Which one of the following is the winner
of the Vijay Hazare Trophy 2017 ?

(a) Uttar Pradesh

(b) Karnataka

(c) Assam

(d) Tamil Nadu

Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List II
(Committec) (Subject)
A. Rangarajan 1. Tax Reform

Committee

. 2. Insurance Reform
B. Narsimhan

C itt 4
e 3, Disinvestment of
C. Kelkar shares in PSEs
~ Committee
4. Banking Sector
D. Malhotra Reform
Committee
Code :

ez e e e
(B)i 2 Bl SR
(o) pialtdiaial e

(e R e S s

A — U-GIA-JBOS
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(b)
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(c)
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61.

62.
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58.

S39:

60.

To which of the following sectors of the

ecunuiy, the activity of agriculture and

services belong to ?

(a) Primary and Tertiary respectively

(b) Primary and Secondary respec-
tively

(¢c) Tertiary and
tively

Secondary respec-

(d) Secondary and Quaternary respec-
tively

Which one of the following statements
about Allahabad Prashasti is correct ?

(a) It clearly presents the Gupta empire
as the epicenter of a complex web
of varied political relationships

(b) Line 15 of it refers to the capturing
a king of the Kota family

(c) Line 23 refers to Samudragupta
violently exterminating a number of
kings of Aryavarta

(d Line 20 refers to rulers offering
tribute, obeying the orders of the
Gupta King

Which one of the following statements
about the Gupta period is NOT correct ?

(a) Forced labour (Vishti) became more
common than before in this period

(b) A passage in the Vishnu Purana
refers to the Guptas enjoying all the
territories along the Ganga up to
Prayaga

(¢) The Mechrauli inscription suggests
that Chandragupta fought against a
confederacy of enemies in Bengal
and also led a campaign into the
Punjab

(d) Saurashtra was not a part of the
Gupta Empire

23

61. Which one of the following statements

about the Sukanya Samridhi Scheme 1s
NOT correct ?

(a) Only parents of girls up to the age
of 10 years can open such accounts
in their daughters name

(h) Contribnfions are eligihle for fax
benefits under Section 80C of the
Income Tax Act

(c) Interest earned thercon is exempted
up to Rs. 1500 per annum

(d) A maximum of Rs. 1-50 lakh per
annum can be invested in this
account

62. Which of the following are the reforms

introduced in Budget 2017-2018 ?

1. Presentation of Budget advanced to
1st February to enable the
Ministries to operationalise all
activities from the commencement
of the financial year

2. Merger of Railway Budget with
General Budget to bring Railways
to the centre stage of Government’s
Fiscal Policy

3. Removal of plan and non-plan
classification of expenditure to
facilitate a holistic view of
allocations  for  Sectors and
Ministries

Select the correct answer using the code
given below :

(a) 1 and 3 only
(b) 2 and 3 only
(e Er 2Eand 2

(d) 1 and 2 only

A — U-GIA-JBOS
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64.

65.

66.

67.

T uferke aRa 3R foeg 2y & &,
(a) =M

(b) FTiferT

(c) ECGRI

(d) =

e &Y T Hior wet o eferias weret
d ¥, 9 1 TR TR ?

(a) TEAH

(b) HeRCH

(c) HhdmE

(d) Usirew

frferfas sgaml (ArmR) 3§ § 9 1,
FIeH & 11 8 ?

(a) T

(b) =™

(c) &

@ s (Yea) -

IR AR ATR¢e § FGo A o STHRT |
frefafegc da s aAT e 8 7

(a) Tommmar v g aifeeaarifae -

(srfesr-gftrar)
(b) erfecaTaRIR qa7 = == fagm
(c) TommATaT 7 O A Wt T
(d) srfeeamrifas T fEmmmeT
o 1984 ¥, fa=fafad & @ @9 & 9 &
e & RO WA 9 AwEEr s 91 ?
(a) THa=a smaEERe
(b) THMPRCT SEaATEEETEE
(c) IATZATHR STEIATEFEIAC
(d) ATEEAAEEAE
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69.

feret e o) g1 9 & forw wsrafe s
3R TTETRT ST < &4 T AR 60 T & |
afe g1 = & forn HraR = 1440 799 2,
T AT H R AT ?

(@) 44%
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(a) 13 2, eHt

b) qal 1,9 8 2
(¢) a1
(d) FF 2
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64.

65.

66.

67.

‘Nomadic Elephant’ 1s a joint military
exercise between India and

(a) China

(b) Mongolia
(c) Vietnam
(d) Bhutan

Which one of the following artificial
sweeteners 1s modified sugar ?

(a) Aspartame

(b) Saccharin

(c) Sucralose

(d) Alitame

Which one of the following polymers is
made of protein ?

(a) Rubber

(b) Cotton

(c) Wool

(d) Jute

Which of the following diseases are
caused by the consumption of water
contaminated by mercury and nitrate ?

(a) Minamata disease and Osteoporosis

(b) Osteoporosis and Blue Baby
Syndrome

(c) Minamata disease and Blue Baby
Syndrome

(d) Osteoporosis and Minamata disease

Leakage of which one of the following
gases had caused Bhopal Gas Tragedy in
the year 1984 ?

(a) Methyl isocyanate
(b) Hexamethylene diisocyanate
(c) Isophorone diisocyanate

(d) Isothiocyanate
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68.

69.

The difference between the compound
interest and the simple interest for
2 years on a sum of money is Rs. 60.
If the simple interest for 2 years is
Rs. 1440, what 1s the rate of interest ?

(a) 4+%

(b) 6%%
(c) 8%

@ 8%

A, B, C, D, E and F compared their
marks in an examination and found that
A obtained the highest marks, B obtained
more marks than D, C obtained more
than at least two others and £ had not
obtained the lowest marks.

Consider the following statements :

Statement 1 : At least two members

obtained less marks than
(&

Statement 2 : £ and F obtained the
same marks

Which of the above statement(s) is/are
sufficient to identify the one with the
lowest marks ?

(a) Both 1 and 2
(b) Neither 1 nor 2
(c) 1 only

(d) 2 only

A — U-GIA-JBOS
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71.

72.

72 km T g 9% feq <1 fergeti 4 3R B &
<1 =Afth Tk qER <l SR Fer & oy Uk 2l
g 9% feer | aeen =l 4 km wfa =2
<l =11 A FeAT @, STelfh GERT Afh T8

ﬁ%ﬁﬂun,i@iﬁ%ﬁ Q%krnﬂﬁﬁ%ﬁ
3 km ST 8, 3% 61 dXE SR =l el
2 | gt =afen firei

(a) 8eaid

(b) B smEm 4 & siftres foee

(c) A e B & siftes faske

(d) A 3R B & s=i-s=

el 1 F gl 118 gafaa i e
gfet % 3 T 9 w1 o

H’G'quﬁm:

Gl A I
(v e (7=)
gfw=T)
A. Bga gfEist 1. == Tet
B. Oel[d GRASHT . 2. AWRAT AGt
C. 7T W9 TR 3, S Al

USIEsL 4, tmmE T
D. feedt ufersm
&R

Act B G D

@ 2 | 4 3

oy s N o)
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(@) a7 A BN D

o @ g 1 E gafaa i SR
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#El IR AT ;
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73,

74.

75.

gAll =T 11

(areafa) (1)
A. TR 1. STRY 3
B. HTfe 2. Gleel g
C. fraatia 3. Gi&roT Sshreht
D. 7Tl Shad 4, STl

(et 7o)
&< :

AR e BESE LD

@)l 2l s

() 1k 3l e

() A i Ol

(OUEAS G
R o frmfafad 3 & Fi & e o
(=ITer AR ) T 3T SRR R
‘it g arifeEr’ @ 2
(a) T TR ferd

(b) TR TR e
(c) 9= TR e
(@) =TT TR e

gfegi (i) & & avie # feafafea # 4
FI9 |1 dea foemE giar g ?

(a) AR

(b) @rer

(c) hicaan

(d) IR ()

Frelfer @t & gay ¥ fafafaa # @ &E

T 97 el qel g 7

(a) ZEH SAFANGHT: TAFGRT Siol 60
IR Al Bl ©

(b) @fere dighansit sgar gzt &0
IUANT A fohan Srar ©

(c) ZH AW HEE FHUT Bl ©

) =ow wifeafos dweft ggfaat @0
SUGHT Bl &




70. Two men set out at the same time to

Tike

walk towards each other from points
A and B; 72 km apart. The first man
walks at the speed of 4 kmph while the
second walks 2 km in the first hour,
2% km in the second hour, 3 km in the

third hour, and so on. The two men will
meet

(a) in 8 hours

(b) nearer to' A than B

(c) nearer to B than 4

(d) midway between 4 and B

Match List I with List Il and select the

correct answer using the code given
below the Lists :

List I

List II
(Hydro power (River)
project)

A. Maithon project 1. Chambal river

B. Salal project 2. Bhagirathi river

C. Rana Pratap 3. Barakar river

Sagar project
EE 4. Chenab river
D. Tehri project

Code :

(DDA E g
G e )
(C)rRs SRl 2
G e TR (N

72. Match List I with List IT and select the

correct answer using the code given
helow the Lists :

=730
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74.

e

List T
(Vegetation)

List 11
(Region)

A. Chaparrals 1. North America

B. Maquis 2. Southern Europe

C. Fynbos 3. South Africa
D. Malle scrubs 4. Australia
Code :
A B C D
Ga) -l 2 3 “
()RS e o sy
(c) 3 2 1
(d) e i
Which one of the following tiger

reserves of India has ‘Bhoorsingh the
Barasingha’ as its official mascot ?

(a)
(b)
(©)
(d)

Nameri tiger reserve
Ranthambhore tiger reserve
Panna tiger reserve

Kanha tiger reserve

Which one of the following elements is
present in the green pigment of leaves ?

(a)
(b)
(©)
(d

Magnesium
[ron
Calcium

Copper

Which one of the following is NOT
correct about organic farming ?

(a)

It does not use genetically modified
seeds

(b)

Synthetic pesticides or fertilizers are
not used

(©)
(d)

It uses minimal crop rotation

It uses ecologically protective prac-
tices

A — U-GIA-JBOS



76.

T

78.

79;

g 3w =R W A o feefted H |
R | FUHT JIART | AT ST 2 7
(a) ETEFIR

(b) m

(c) femmiex

(d) foemTHIE

Far (snwr) fagag #@ g @, R
(am™) 3R _

(@) fehet

(b) el

(c) fea

() gfatm

el s R T 60% SETE Sl © |

ST T B=he 98! ST T@ o Telq TRt
Fters @ foram wfaa =emn e ?

(@) 37-5% '

(b) 60%

(c) 75%

@ 120%

3 Uy A AR B US R Hl FHHW
12 firve 3k 16 fiee 3§ wR @oha ® | 38
Q1 U=y T 91 @il T €, a1 e ama
¥ =Te B & &g fran st =fey, difes 2t
9 firqe # ¥ =y ?

(a) 31 fime
(b) 4 fie

(c) 41 fre
d 42 fime
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80.

81.

82.

Uk 99 Ueel, Ueh e i HE A9 I
Y AR T | D AN 5 FTG Iqeh!
3T AU T hl A & G A 9 SAfHe
BT | Irieht FAT 317 T S H1 8 7
(@) 9:2
®) 11:3
(e) 125

d 13:4

B9 3R gFR /9eranR & frefatad i
H | A @1 el gHiod el © ?

(a), W5 : AHAEFRA AR
(b) TGS . AT TR
(c) =TTE : ORI WUTA FETETR
(d) ZOAH FIHE : e HBEER

gt [ g 118 gafaa fifg ok
gfwat & 9 @ ™ de #1owEe a

Hﬁﬁw_‘fﬁq:

gl A1
(atew) (@)
A. e (SiEa) 1. IR
B. @vf 2. gfehar
C. ThIFTEE 3. STeR
D. 9T=RTEe 4. TE&
e ¢
A, "B, @ @ WD
CURR el T
oy e S |
ISR = e S
@ 5 4o e



76.

717/

78.

79.

Which one of the following instruments
18 used for measuring moisture content
of air ?

(a) Hydrometer
(b) Hygrometer
(c) Hypsometer

(d) Pycnometer

Bronze is an alloy of copper and
(a)

(b)
(c) tin

nickel

iron

(d) aluminium

The length of a rectangle is increased by
60%. By what per cent would the width
have to be decreased to maintain the
same area ?

(@) 375 %

(b) 60%

(c) 75%

(d) 120%

Two pipes 4 and B can fill a tank in
12 minutes and 16 minutes respectively.
If both the pipes are opened together,
then after how much time, B should

be closed so that the tank is full in
9 minutes ?

(a) 3-% min
(b) 4 min
(c) 4% min

(d) 4% min
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80. One year ago, a father was four times
as Uld us lis son. Afler six yedrs his age
exceeds twice his son’s age by 9 years.
The ratio of their present age is

(a) 080
(b)slile 3
(e) 12 s
(d 13 :4

81. Which one of the following pairs of
Island and Sea/Ocean is NOT correctly
matched ?

(a) Cyprus : Mediterranean Sea
(b) Falkland : Atlantic Ocean
(¢) Chagos : North Pacific Ocean

(d) Islas Cocos : Indian Ocean

82. Match List I with List II and select the

correct answer using the code given
below the Lists :

List I List II
(Mineral) (Mine)
A. Zinc 1. Amjhore
B. Gold 2. Sukinda
C. Chromite 3. Zawar
D. Pyrite 4. Hutti
Code :

A “Bii @D

(a 1 2 4 3

(b)ass 2 4 1

(c)t 3 p! 2 1

(fabe 4 2 3

A - U-GIA-JBOS



83.

84.

85.

SRTOTT 2011 % 31T, ot smema (fd
TSR RN UK 1) o €ed # AR H oAl
=1 el FAE! e, fefafea 7 & @9 |
e ?

(a) IS AT —HET FeY — STRIEUE —
WA 3R FHIHR

(b) HEA Wy — uf¥e s — S 3R
FIHIT — ITETS

(c) SRS —UfTHH s —HET Wodl —
Y 3R HIHIR

(d) TS ST — STLEvE —HET Yol —
T 3R AR

= o T i 5 v e e B € |

ZHHT FRI ©

(a) @itk I56 T

(b) ETEEISH LA

(c) AFeETH &

(d) W TASTE AL

T g (BE1EEL) 1 @@ T,
feffadasmar e ?

(a) ETEZIS STFATES

(b) =i T

(c) SR SIS

(d) WK (B BTEGS TS
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86.

87.

88.

89.

F1 FAM AT T HUN hl, AdTh A,
frfafae # @ foram foam ?

(a) ﬁﬂétﬁﬁﬂ'ﬁ?

(b) HE AeA-H

(©) ao—q'émm'ra?f

@ IR

forel de i geANTH-GEHl, SEH | FT

Seafta e W aRafda =& e 8 ?
(a) Shae 3w ST siter ferfeRzor
(b) e e St T ferfRor
(c) aaaaﬁaaﬂ?mm%ﬁw
(d) 3T, siten s farfer

2880 1 Tl e of o S ATl
e we feefefad # @ S 41 e 7
@ 3
() 4
(c)S
@ 6

U sl €@ 4X3 R 984 H FeH T
Teh AR T 13Y7 9 et & | afe
13Y7, 113 fwfsa et 8, @t (X + Y) &
A 4T BRI ?

(@) 15
(b) 12
() 11
(d) 10



83.

84.

85.

As per Census 2011, which one of the
following is the correct descending order
of States in India in respect of sex ratio
(female per thousand of males) ?

(a) West Bengal — Madhya Pradesh —
Uttarakhand — Jammu and Kashmir

(b) Madhya Pradesh — West Bengal —
Jammu and Kashmir — Uttarakhand

(c) Uttarakhand — West Bengal —
Madhya Pradesh - Jammu and

Kashmir

(d) West Bengal — Uttarakhand -
Madhya Pradesh — Jammu and
Kashmir

Liquid water is denser than ice due to
(a) higher surface tension

(b) hydrogen bonding

(c) van der Waals forces

(d) covalent bonding

Which one of the following is the
chemical name of heavy water ?

(a) Hydrogen oxide
(b) Deuterium dioxide
(¢) Deuterium oxide

(d) Heavy hydrogen oxide

86.

87.

88.

89.

Who among the following has coined the
term ‘Quark’, the fundamental particles
that make up protons and neutrons in an
atomic nucleus ?

(a) Richard Feynman
(b) Murray Gell-Mann

(c) Albert Einstein

(d) Niels Bohr

The mass number of an element is NOT
changed when it emits

(a) Alpha and Beta radiations only

(b) Alpha and Gamma radiations only
(c) Beta and Gamma radiations only
(d) Alpha, Beta and Gamma radiations
Which one of the following is the
smallest number by which 2880 must be

divided in order to make it a perfect
square 7

(a 3

© 4

() 5
d 6
A 3 digit number 4X3 is added to 984
to get a 4 digit number 13Y7. If 13Y7

is divisible by 11, then what is the value
of (X+Y) ?

(a) 15
(b) 12
(c) 11
@ 10

A — U-GIA-JBOS
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91.

92.

e ) forendl oesh € iR Wt @ e
# a1 frmfafag § & @ia o e i
&9 ¥ Hel © ?

(a) WHAT e Ah ©
(b) @ T fommadl 2
(c) | Aol T ©
(d) @t Tt wc €
= 2017 H, WA § U S~ GRT,

frrmfafaa & @ form <1 afegl ot asiia wE
TET T g1 QAT AT ?

(a)  FRITA 3R T
(b) T SR FHAT
(c) FEAT 3R MGERT -

(d) FOT AR FHE]

et gt ¥ e 3 Frerfef 4 2
T FF Fel el & ?

(a) R ¥ fafeqr wEe & TRH 9garl
HETaTS! 3R TdETEl K 6t I
siferl =Een #, R @ =kt
e s @ sifts I WO
wrferent gIRT T T SRR (Bh) T
ST AT, S 9-STE & AT & o
TG B 4

Wﬁw-ﬁs-ﬁ‘r&'{ﬁ{w
) (grEe) B At

aaTs! Een ®, SR g 5
T i =T e sfienr g AT 3R
¥ g-Tee F yiaE & fog @A
IeRGET i 4 |

(b)

(c)

(d)
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93.

94.

95;

v frfemt i gfg & forg, frfefaa i @
G il RO ol LU

1. WeRTen feafemt |
2. =3 3 Fgdare fed w4 |
3. 6% °hl THE FEET |
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g

(a) Fae 1, 2 &R 4
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FEH B 7

(a) e

(b) TE-TR

(c) ISR
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=ifer 78 €@ AT @
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91

92.

If all students are boys and all boys are

dancers, then which one of the following

statements is definitely true ?
(2)
(b)
(c)
(d)

All dancers are boys

All boys are students

All dancers are students

All students are dancers

In March 2017, a High Court in India
had accorded the status of living human

entities to which two of the following
rivers ?

(a)
(b)
(c)
(d)

Brahmaputra and Ganga
Ganga and Yamuna
Yamuna and Godavari

Krishna and Kaveri

Which one of the following statements
about land tenure system is NOT
correct ?

(a) During the British rule in India
three categories of land tenure
system, viz. Zamindari, Mahalwari
and Ryotwari were introduced

(b)

Under Zamindari system, land was
held by one person or at the most
by a few joint owners who were
responsible for the payment of land
revenue

(c) Under the Mahalwari system, the
agricultural lands belonged to the

Government

(d) Under Ryotwari system, the
individual holders had the permanent
rights over land and were directly
responsible for payment of land

revenue

33

93. Which of the following are the necessary

94.

9s.

conditions for the growth of coral reefs ?
1. Photic conditions
2. Clean and sediment free water
3. Sea salinity of 6%

4. Tropical sea water with temperature
of 20°C to 21°C

Select the correct answer using the code
given below :

(@) 1, 2 and 4 only
(b) 2 and 4 only
(¢) 1 and 3 only
(d 1,2, 3 and 4

Which one of the following diseases is
caused by Cadmium pollution ?

(a) Minamata
(b)
(c)

(d)

Itai-itai
Fluorosis

Blue baby syndrome

Presence of ozone in the atmosphere is
important because it absorbs

ultraviolet-A and  ultraviolet-B

radiations

(a)

(b)
(c)
(d)

ultraviolet-B radiations only
infrared-B radiations only

outgoing ultraviolet-B radiations and
incoming ultraviolet-A radiations

A — U-GIA-JBOS
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9

98.

99.

NPP (Hz wrsadt wiefFefrer) / (345 st
e e 0 B A e s B

(a) SWEHCERTE a7

(b) TAFA ()

(c) T

(d) e 3T TS AT i

et Terer ST (TR0 o ek TeATd &

g TaRuny Heehi o1 LU FAT heardal g 7

T qET #H, 25% st i & st
BT 3R 12% ST H sl g9 | afe 10%
el gt fasat # el gy ek 292
srvpedt et fawat & wmw (SA©l) gw, @t
e # A A g9 awBE B gen
frefafm 9 S At 2 ?

(a) 300

(b) 400

(c) 460

d 500

A B I FT 5%, B B AT F 15% &
R ¢, 3R B FHl 3 &1 10%, C H
T T 20% % e © | afe C e
2,000 T3 ®, @ 4, B3R C & FA
I Tt & 7

(a) 20,000 T
(b) 18,000 &
(c) 14,00015@
(d) 6,000 T
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100.

101.

102.

afg n GFTCHG WGl R IUEEA U

(afr) B, |1 e A @
(a) TS GATcHS qUTieh
(b) n 9 faursa
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& &®IT "el © 7
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2. U€ U geUY & € |
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4. 9% STEEN RS
. EI¥eicH) 1 UF & ¢ |

AR e W g W WA R EEl S
T+

(a) 1 3R 4

(b) FaeT 1 H#R 2

(c) 2,3 3R 4

@ 1,2 33

Qe

femem ¥ SR A Fefofea & & =9 @

FUA el qEl © 7

(a) T A FeE gE (AT Fies e &

(b) T ¥-srfioe T §

(c) Teurem & smr w (fewmemm wed
wiced, HFF) fearem =i foe=g @

(d) Tay ik aeesr ieat fewrem # e
HUATE AT ©




96.

L

98.

99.

NPP (Net Primary Productivity) is highest
for

(a)
(b)
(c)
(d)

tropical forests

swamps

reefs

woodland and shrub land

Study of a single species and the

environmental factors in its habitat is
called

(a)
(b)
(c)
(d)

Genecology
Synecology
Autecology

Ethology

In an examination, 25% of the
candidates failed in Mathematics and
12% failed in English. If 10% of the
candidates failed in both the subjects
and 292 candidates passed in both the
subjects, which one of the following is
the number of total candidates appeared
in the examination ?

(a) 300
(b) 400
(c) 460
(d) 500
5% of income of A4 is equal to 15% of
income of B and 10% income of B is
equal to 20% of income of C. If the

income of C is Rs. 2,000, then what is
the total income of 4, B and C ?

(a) Rs. 20,000
(b) Rs. 18,000
(c) Rs. 14,000
@) Rs. 6,000

39

100. If the product of n positive numbers is

101.

102.

* unity, then their sum 18

(a) a positive integer

(b) divisible by n

_ 1
(¢) cqual to n+ =
(d) never less than n

Which of the following statements about
the Equatorial region are correct ?

I Itis a 1ﬁegathemml region

2. It is a sclerophyll region

3. It is a region of high development
4. It 1s a region of aerial streamlets

Select the correct answer using the code
given below :

(a) 1 and 4
(®)

(¢) 2, 3 and 4

1 and 2 only

@ 1,2 and 3

Which one of the following statements
about the Himalayas is NOT correct ?

(a) They are young fold mountains
(b)
(c)

They have geosynclinal rocks

Himalayan frontal faults (HFF)
separates Himalaya from Tibet

(d)

Indus and Sutlej rivers form
antccedent drainage in Ilimalaya

A — U-GIA-JBOS
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afed =iz & afea e & fou fefafaa
# | i I SHERYT HRA TRl © 7
(a) wifcsiel 3R HaeT et

~ (b) frrEe argHEe | ! S vt i

104.

105.

106.
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d) T aferor o SuRkeaa
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(a) St & Tafire wepfaes am @

(b) 31T ST & WIF TESiEr gy
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ArTerer Saferty
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® 7

(a) wEH

(b) AR (afsia)
(c) Trae Stasma
(d) TH

Sig-gmaed  (FEAThR) UG ° 9

Sfcafed gfar e ?

(a) w7 9R ¥ Ifg

(b) wifFeRe STl 6 stfEfa It

(c) SER S@el & AL ¥, T2 T TH
A TGN #hi Sl Bx A= ehl T

(@) Teret weley wezm & Sfemyy < we °
EL
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108.

109.

1R i it % 2 i o e 2 7

(a) T = 3R S=9 9T W e
HITEETEE Y FER ATAT IeId 6l ©

T T 3R == qrowEl W ATEeise

STRATEET ht WX HIAT Jeaa el &

7e e e W) S AT
3 =9 QIIHI UK ATSEISIH S FTEe!]
T TER HTAT ST T ©

E i £ oo e R Tl e R
3R I=9 AHT 9 e AFEEES

T TR HAT ST Rl ©

(b)

(c)

(d)

U A S G AATRET X 3R Y R A=
T 91, § 4000 e Tl T A | HA S0
{2 wee R gam Wk A g1 WS
T & foreT Uk & 9et T A7 | Wedel Y ol gl
& 4l H# 8 40% Ale W §U AR 98 BR
T | BR HT SR FAT AT ?

(@) 5003w
(b) 8004w
(c) 1200 9=
(d) 16003
7 T T st & sitaa M e | 3l

Tt 3 fawm gea | snfaer o i S,
ar e

(a) st <ear 2
(b) 1-5%G SITaT &
(c) 2% STl &

(d) 39 ATl ©
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104.

105.

106.

Which one of the following is NOT a
favourable condition for occurrence of a
thunderstorm ?

(a)
(b)

Conditional and convective instability

Adequate supply of moisture in the
lower atmosphere

(c) Advection of cold dry air in the
lower troposphere and warm moist

air in the upper troposphere

(d) A synoptic situation of low level
convergence and upper level

divergence

The ecological niche of an organism
relates to

(a)
(b)

specific habitat of the organism

symbiotic relationship with other
organisms

(c)

diverse occurrence of a species
under different conditions
with other

its interaction all

organisms

(d)

Free swimming macroscopic animals in

an aquatic environment are referred to
as

(a)
(b)
(c)
(d)

Plankton
Periphyton
Benthos
Nekton

The term Biomagnifications is referred to
as

(a)
(b)

increase in the body weight

uncontrolled growth of harmful
organisms

(c) accumulation of increasing amount
of non-degradable pollutant through

food chain

increase in the number of bacteria
in a culture medium

(d)

37

107.

108.

109.

Which one of the following statements
about air pollution caused by diesel
engines 1S correct ?

(a) It produces large quantity of carbon
monoxide at lower and high
temperatures

(L) It produces large quantity of vitro-
gen oxides at lower and high

temperatures

It produces large quantity of carbon
monoxide at lower temperature and
nifrogen oxides at high temperature

(d) It produces large quantity of nitro-
gen oxides at lower temperature
and carbon monoxide at high

temperature

In an election which was contested by
two candidates, X and Y, 4000 votes
were polled. Suppose that every vote
was polled in favour of either of the two
candidates. Candidate Y got 40% of vote
polled and was defeated. What was the
margin of defeat ?

(a) 500 votes

(b) 800 votes
(c) 1200 votes
(d) 1600 votes
The average of 7 consecutive odd
numbers is M. If the next 3 odd

numbers are also included, the average

(a) remains unchanged
(b)
()
(d)

increases by 1:5
increases by 2

incrcascs by 3
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e ¢

1 B e 1 O e | UG B B 2 e LR
fafira Sl /8=t & ot =t % SR frEy
(@t wiie Tl H)

FENT/ &R
2005-06 | 2006-07 | 2007-08 | 2008-09 | 2009-10
HERT
frafr 740 800 470 440 810
oG] 500 520 600 650 800
Fer 420 480 500 600 750
B coo 440 500 550 600 660
= 800 900 980 1110 1080

110. 2005-06 & 2009-10 <= A= &= ¥ frasr 7
feperet wifarera afg &2 7

(@) 30%
(b) 40%
©) 50%
d 60%
1. g T awf #, &0 &= & wiq = sfted
R foramr € (@ 9RIg =9 #) ?
(a) 490

(b) 550
(c) 580

(d) 670
112. Frafefea # & foow w6 ad & SR, g
frasr srfereram ar ?
(a) 2006-07
(b) 2007-08
(c) 2008-09

@) 2009-10
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113.

114.

115.

116.

frfafeaa # 4 &t =1, 9 (0-5 ppm'a
FH) g foe T WIRES A 9% S 6
G IEfehTel < SUHRT =T HEA THE © ?

(a) = T e

(b) TG AT SIGA

(c) =g frla

(d) I o THEIGR BT

FTAREH T IIAN Ueh AT o & H
BIAT &, FAlfh '
(a) ZHHT FOAT AT S=4 BT ©

(b) TEHT TER 0T FA Bl ©

(c) =HERT TETAlHe TR S=d Bral &
(d) Te s FoR B

Preforfam & & 9 &1 T, SHaTs e
gRT SrTEfed et ean ¢ 7

(2) aweafd sEey

(b) wenfess ek

(c) SIg

(d) o7 3firee

= T, e wes ) 19 6 fag €
&1 G HETHAT 6! TATAT TAT 2

L L
L

L ]
L L]

7ife o =@ sEea & B R i fgstt A
Tk = B, dl 9 o hereh 1 fergati <At
HEAT AT B ?

(@) 1

(b) 1315

(@ 5

(d) 23=Es



Direction :

The next three items

are based on the

mformation provided below :

Investment in various industries/sectors across
five years (in Rupees Hundred Crore)

Type vl
i dus'iry eector 2005-006 | 2006-07 | 2007-08 | 2008-09 | 2009-10
I\.hnur—wnrinﬂ 74N 200 470 44N g10
Electrical 500 520 600 650 800
Services 420 430 500 600 750
Mining 440 500 550 600 660
Others 200 900 980 1110 1080
110. What is the percentage increase in

111.

112.

investment in the Electrical sector from
2005-06 to 2009-10 ?2

(2)
(b)
(c)
(d)

30%
40%
50%
60%
During the given years, what is the
average investment per year for the

services sector (in Rupees Hundred
Crore) ?

(a) 490

(b) 550

(c) 580

(d) 670

During which one of the following years,
was the total investment maximum ?
(a) 2006-07

(b) 2007-08

(c) 2008-09

(d) 2009-10
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113.

114.

115.

116.

Which one of the following is a major
effect of long term consumption of
drinking water containing little (less than
0-5 ppm) or no fluoride ?

(a)
(b)
()
(d)

Cavity of tooth

Erosion of nail

Deformation of bone

Mottling of tooth

Carborundum is used as an abrasive,
because it :

(a)
(b)
©)
(d)

has high thermal conductivity

has low coefficient of expansion
has high chemical stability

is extremely hard

Which one of the following is NOT
decomposed by bacterial action ?

(a)
(b)
(c)
(d)

Vegetable remains
Plastic materials
Animal carcasses

Wastes of flowers

Two positions of a dice with 1 to 6 dots
on its side are shown below :.

If the dice is resting on the side with
three dots, what will be the number of
dots on the side at the top ?

(a) 1
(b) 1ors
(¢) 5

@ 2 ar5
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117. foet arpfar W forem fifo FT -

A L B A B C D
(@) 2 | 3 4
H I ()2t 3 1 4
(C) A T )
5 = ’ N A )
SR & WA s #, TR e S A TR 120. =1 1 g 11 & gHfaa HIfQ 8K
%, #1 e feat ® ? (femm w2 6 gt & = e T g w1 oW R
ABCD U =01 & 3R E, F, G, H 381 SSTst TE IR AT
%Hm%ﬁ%) ; ?ﬁ'_}I
(@ 14 (Trsd T
(b) 16 :
© 20 A. FHide
@ 2 B. =IRTETEL |

118. Fe=fofaa den | =R fifsg
n = [(6374)!793%(625)3'7%(313)*]
formfofiag & @ 9 91 T 3, n & T
TEWE ?
(a) 0
(b) 1
(c) 2
@ 5
119. gt I & gt 1 & gafaa $ifg sk
ghEt & 9 3 W Fe w1 e W
g S MY

gl | A1
(et faer) (=) -

; AL B S CRD

A. GTTR . ufg=H s
_ (@) 2 1 3 4
B. Bfeieh 2. Bt e e
C. TS _ 3. IR UQq R et )
D. rfet 4. FHteh GUM e i e
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117. Consider the following figure : Code :

A E B A =B LUE D
@ 2 1 2 4
b7 | (b2 3 1 4
(c) g 3 1 2
d) 4 1 3 2
D G C @)
What is the number of rectangles which 120. Match List I with List IT and select the
are not squares in the above figure ? correct answer using the code given
(Given that ABCD is a square and below the Lists :
E, F, G, H are mid-points of its sides)
List 1
(a)S (National Park)
(b) 16 A. Corbett
(c) 20 B. Neora Valley
(d) 21 C. Betla
) D. Kanha
118. Consider the following number :
n = [(6374)17%3%(625)317x(313)49] List II

(Location in map)

Which one of the following is the digit at
the unit place of n ?

(@ 0
(b) 1
(c) 2
d 5

119. Match List I with List II and select the
correct answer using the code given below

the Lists :

List I List IT
(Bird Sanctuary) (State)
A. Sultanpur 1. West Bengal (a) 2 ]? j lj
B. Kulik 2. Haryana b) 2 3 1 4
C. Nawabganj 3. Uttar Pradesh (c) 4 1 3 2
D. Attiveri 4. Karnataka d 4 3 I 2
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121.

122.

Fraferfea suat w fer S
1. 250 cm ¥ rfreh auf ATt &
2. aftfer qrETE 25°C - 27°C
3. 3itad e 75% & siftreh
4. g8 T = FE wed

Feafy & frAfafed yel ® |, S a1
T IR 1 i FaT e ?

(a) SIWHICHEH T FEICl

(b) SorEfEH st wamIv

(c) IVTHfeSET M5 TUrATl

(d) STHfesEl YF dRIEAT

TRa # SsRE & gey 7 et
Y & ° AT el © ¢

1. oTE SHSTET STk eyl 3R STREve
T 9T Sl ©

2. e, S AR GATE! SISt et §
Tt STt §

i3t R STt Tra o 9wt St ©

4. Y STSIIAT S 3R IR, T
fermarer TR & HeraTEl GLARE €

9= A @ Fe @ FEN W Eel W
el :

(a) 9 1 3T 3

(b) Faw 2 3R 4

(c) Faa 1, 2 AR 4

(" 15:28 3t a
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123. ‘sfy-mem’ (R a6 ®@R) & &=H #

ferefeorfaa Fual W foEr S
|3 SEeEfEa % IR-H
e & (FRaH-Hiafes swe)
F w7 F S AT 2
7. UE T HishA Al & ©

3. 77 JUURI We (TBR) HET E TH
ER

= & T Fe w1 TR AW HE SR
3fed

(@) Had 1

(b) Fa« 1 3R 2
(c) Faw 2 3R 3
@ 1,2 3K 3

124. 58 o1 T el @ied © 7

(a) fafwsm
(b) T TG
(c) Temme wast

(d) JTREE

125. fpmfafea & @ @9 @1 ©F, G e

HETY T Fafeyd € 7
(a) TfEToT SrsheRt

(b) smefer

(c) Tt

(d) iferiRmEn



121. Consider the following statements :

1l

2.

3.

4.

Areas where rainfall exceeds
250 cm '

Annual temperature 25°C — 27°C
Average humidity exceeds 75%

Trees do not shed the leaves

To which one of the following types of
vegetation does the above represent ?

(a)
(b)
(c)
(d)

Tropical wet evergreen
Tropical semi evergreen
Tropical moist deciduous

Tropical dry evergreen

122. Which of the following statements
related to tribes in India are correct ?

L.

Tharu tribes are found in Uttar
Pradesh and Uttarakhand

Irula, Chenchu and Sumali tribes
are found in Kerala

. Garasia tribes are found in Goa

Gaddi tribes are nomadic herders of
Jammu & Kashmir and Himachal
Pradesh

Select the correct-answer using the code
given below :

(a)
(b)
(c)
(d)

1 and 3 only
2 and 4 only .
1, 2 and 4 only

I, 2, 3 and 4

43

123. Consider the following statements about
‘Ring of Fire’ :

I. It 1s also known as circum-Pacific
belt of volcanoes

2. It is an active seismic zone
3. Itis a zone of divergent plate margin

Select the correct answer using the code
given below :

(a) 1 only
(b) 1 and 2 only
(¢c) 2 and 3 only

@ 1,2 and 3

124. The Bum La Pass is located in
(a) Sikkim
(b) Arunachal Pradesh
(c) Himachal Pradesh

(d) Uttarakhand

125. Which one of the following is located at
the southernmost latitude ?

(a). South Africa
(b) Australia

(c) Chile

(d) Polynesia
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